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14068 HP @ 2151 RPM | 505.42 Nm @ 1870 RPM | T:23,6C. Hum: 55,0, P: 1025 OmBar | 1.121
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[— Data noise filtering
Recommended to keep noise reduction on, but as low as possibe.
Noise reduction, 0 of)to 10 max) 5 [
Note: When compensating for dive train losses, noise reduction must be low (deally 3orless)

Note2: You can experiment with diferent noise sftings on the same fun by reading
back a raw log e n the Run window.

— RPM spike removal
Keep at 5uriess there areissues with noise in the RPM measurements.

RPMiiter (5=nomal,0=of) [ [2

1 RPMjumps or reacts slowly. then the numberis too high
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Load Cell 1
Dyno Type

Thisis 2 Brake Dyno with [1 2] Load Cels)

Brake dyno readings are affected by the inetia of the dyno and the dive tran
Readings wil be too low under accleration uless compensated for

‘Compensate for inerta effcts during acceleraion
"Dyno/dive train Moment of Inertia Hub/Rollr 1 [10.70

ol 2 [000

Inertia compensation ————————————————————

Calibration
Torque amn length to load cell ~30.0 < om
Calbration weight 10 Bk

Information
Weight afer caibration Okg
Torque ater cabraton Otim

Raw loadcel reading (ave): 00
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— Horsepower comection based on environment
Enable SAE J1349 Horsepower Corection

Pressure and Humidy sensor tached:  Dyno ot connected
© Manualy enter data

Curent temperature: 2812 ¢
Curent ambient pressure | 1025.0121] mill bar (same as hpa)
Curent reative humidy [ 55,012 %

Environmental comection factor: 0,975

Enable comection for Fictional Losses from retardation data

— Horsepower correction from calculated frictional Losses ———————

Enable addtional horsepower correcton

Loss corecton: [150 2] %
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— Auto brake setup

“This yno has an electroricaly controled brake

~ PWM signal Setup.
@ Control brake(s) using PWH

‘Signal period (micro sec) 1000 - ] invet signal
Vinimumpuse widh () 00 1%
Maimum use widh () 1000 (5] | FCSevo PWM

Test your brake(s)
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(@ Gear Ratio Setup. - o

— RPM sensors

Set upthe usage of the RPM input ports
RPM1inputfunction: |Load celTRPM | Puises per revoltion:

RPM2inputfuncton: | Not used | Puses perrevoluton: 1.0

Note: Orly enable RPM sensors that re in use. When testing 2WD cars on 4WD dynos,
disable the RPM sensor that s ot n use. Specfy "Load cel 1+2RPM” when using 1 RPH
sensor and 2 terirked) brokes.

Note2: Entering wrong numbers in “Pulses per revoluton'” i a common mistake. This causes
‘wrong readings. ks ustthe numberof puses that YourDyno wil see on the RPM input for each
revolution. For tigger wheels, use number o teeth. For encoders, Use number of puises per rev
(PPR).for spark plug interface, use 1 for 2 stroke and 4 stroke wasted spark or 0.5for 4 stoke:
o wasted spark.

[~ Gear ratio Auto setup/Verify
Engine RPM source: | Enter gearratio manualy
Tacho RPM setpaint

Actual Gear Ratio:

engine revs/dynorev | Lock gearratio
GearRafiomuse: 0.0

Notes: YourDyno wil ahways calcuiate power a the brake(s)rolle(s). Using the gear rato the
‘engine poweris calculated from Brake/follr power. & therefore very important that the gear
rato s coect.

‘Set Gearratio by pressing the Lock gear rato button whie hokding the RPM steady.
Fortransmissions wih variable gear rato, you can enter for example 1in the gear rato then you

need o look at Results vs Speed. Engine HP wil nths case be corect, but Engine Torque wil
ot There is no way o calcuiate the Engine Torque wh a variabe raio gear box.
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[ Brake Control Setup. - o X
Contolloop seup  Manual brake corirol | RPM Curve | Power Sweep  Load Cortrol | Brake swesp.

—RPMcurve
Controlbrake tofollow this RPM curve  Statlogging data after: (10 (2] seconds.

RPM curve for brake control
4000

3500
3000 £
2500
2000
1500 £
1000

500

RPM

0 5 10 15 20 25 30
Run length ()

Use Mouse to move ports.
G+ Clck to add point Loadramp Saveramp. Edtramp
At + Cick to remove point

— Hely
[Ghoose "RPM cuve” to make he enginefolow a set RPM cuve everytme. Make 2t curve i the begiming
ko s RPI i bl wheeth sweep sate

[The run stats as so0n a5 the RPM reaches the starting RPM of the curve. The systemis under PID cortrolinthis
Jeting throughout the whole sweep. Logging stats afer the tineout gven.

If Options->Horsepower correcton:>Enable correction for Fictonal Losses from Retardation data s on. the brake
s tumed off when the RPM has reached the end RPM and the duration o the brake curve has elapsed.
(Othenise brake continues to stay on, regulaing o keep the end P, even after the

oK Cancel





